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3. (a®b*)? xab? + (ab®)? S 13| SHH?

@ a6b10 @a7b8 @ a10b16
@ a11b5 @ a15b8

abh'? x a3b? = a?b8 = 4B




4. 2x-[Tx—{6x -2y - (=3x+2y) - 4x}]| - 4y & ItF3| 5PH?

@—8}) @ 4x -8y ® 0
@ —10x - 8y ® 4x

B

TES = WA AtstE,

6x -2y +3x -2y —4x = 5x—4y °o|B=2
2x — [Tx— (bx — 4y)] — 4y
=2x—{2x + 4y} — 4y
=2x—2x—-4y -4y

= -8y




© (-a-b)* ={-(a+b)}* = (a+b)

@ (~a+b)?={-(a-b)}* &, (a-b)? = a® - 2ab + b>
®(-a+2)(-a-2)=(-a)?-22=a*-4

@ (2a-b)? = (2a)> -2 x2ax b+ b? = 4a® - 4ab + b?
® (a+b)?-(a-b)? = 4ab




6.

2x+3y = 3(x—1)+5y & W, xy+y-3 Sy of #3 A& YR fH?

® 2y?-4y-3 @ 2y* +4y+3 ® 2y +4y-3

@ -2y +4y+3 @—2y2+4y—3

2x+3y=3x-3+5y= x=2 AZSIH x=-2y+3
F0171 Alof i dstH
xy+y-3=(-2y+3)y+y-3

=-2y2+4y-3
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2A = 11a® —a—4+5a% + 9a — 6 = 16a® + 8a - 10
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1 1 o _
120 (-Le- 20 D) & vl stae o, 4 99l A%

e} 312 ofuf jal o] g2

@ 11 @9 @7 @ 5 ©® 3
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1 3) 1
122y % (—=x) + 125y x ( =2y ) + 122y x =
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(x=4)(x=3)(r+2)(x+ 3) ) AAACA 2 0] A%k 4430 ¢
Faolat
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> ®E: 55

©
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B

(x=4)(x - 3)(x +2)(x + 3)
={(x=4)(x+3)H(x - 3)(x +2)}

= (x2 - x-12)(x> - x - 6)

120l Y=o _6x2 4 x2 - 12x2 = —17x2 0|t}

wrabA] x2 o] Al 1703 A2 720]| B2 42 9] Aot
Ar5-3ro] 9H2 —17 + 72 = 550|th.
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11.

1
(4xy = x%y = 3xy%) = Sy

= (- By -3n02%) + 2

= (4xy — %y — 3xy?) X —
Xy
=8-2x% -6y
A AL -2,y o AF -6, ST 8
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a=6, b=—— L, a(a-4b) - (5a°b — 20a*b*)+5ab 2] kS -5}

a(a — 4b) — (5a®b — 20ab?) + bab
= a? —4ab — a + 4ab

=a’-a

a’*—a=36-6=30




13. 4x+3y=2<9 o, 5(x-3y) —2(4x—3y) = x o] T3t A o2 et
ol

> E:

> HE: 9x-6
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4x+3y =2

So3y=—-4x+2

(F4]) =5(x—2+4x) — 2 (4x — 2 + 4x)
=50bx—-2)-2(8x-2)
=9x-6
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@ s = ® s =2

_ a+b
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28 = (a+b)h
28
Soh=
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AR Az ol W
1 1 28
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2" =" kb

o §'& 5t 5’
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1
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18. A = (24a*h® — 12a°bh*)=(-2a?b)?, B = (8ab* — 4ab?)+(—ab)* &
T, A= (B+3C) = ab® + 1& WHst= 4 ¢& 75hd?

O Cc=b3-2ab%>-1 @ C=0b3-4ab* -2
@ C=20%-ab®-1 @C:2b3—4ab2+1

® CcC=b-ab’>-4

B ~
FolM A A, BE A5t
A = 6b3 — 3ab?, B = 8ab® — 4
A-(B+3C)=ab?+ 1A
A—-B-3C=ab?+1°]1,
3C=A-B-ab®-1
3C = 6b® - 3ab® — 8ab® + 4 — ab® - 1
= 6b% — 12ab® + 3
FAL 302 e
C = 2b° — 4ab® + 1
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20. FAAF xyl st x=y S <x:iy>=z 22 UHHWIZ &
o, <8l:a>+<64:2>=b5 WZF5=a+ b 9] S F5tod=h
(&, a = 25|t}

<8l:a>°A 81 =30|E& =3

S.<81:3>=4

<64:2>90464=200]2& <64:2>=6

et <81:3>4+<64:2>=44+6=10°2& b =10
~a+b=34+10=13




